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1. HEJU U 3AJAYU U3YUYEHUSA JUCHIUITIJIMHBbI

1.1.I1eab ocBOeHUS AMCHUTIIHHBI:

MOBBIIIEHUE Y CTYAECHTOB MCXOJHOIO YPOBHS 3HAaHHSA MHOCTPAHHOTO SI3bIKa U OBJIAJIEHUE UMH HEOOXO-
JUMBIM U JIOCTAaTOYHBIM YPOBHEM KOMIIETEHILIMU Ui PEIICHUs COLUAIbHO-KOMMYHUKATUBHBIX 3a]1a4 B pa3iiny-
HBIX 00J1acTsIX OBITOBOM, KYJIbTYpPHOH, MPOo(ECCHOHATbHON U HAYYHOU JESTENIbHOCTH, a TaKXkKe JIJIs JajbHeile-
ro caMmo00Opa30BaHUS.

1.2.3axaum IUCHUNTTHHBL:

— pa3BUTHE MHOS3BIYHON KOMMYHHKATUBHON KOMIIETEHIIMH (PEUYEeBOM, S3bIKOBOM, COLMOKYIBTYPHOU U
yueOHO-1103HaBATEIbHOMN);

— COBEpPLICHCTBOBAHME KOMMYHUKATHBHBIX YMEHUN B YETBIPEX OCHOBHBIX BUAAX PEUEBOU JEATEIBHO-
CTH;

— pa3BUTHE HABBIKOB ONEPUPOBAHUS S3BIKOBBIMU €AMHUIIAMU B KOMMYHUKATUBHBIX LIEJISX.

1.3. MecTo AucuMIIMHBI (MOAYJIsI) B CTPYKTYpe 00pa3oBaTeIbHON IPOrpaMMBbl

JlanHast TUCHUIUIMHA OTHOCUTCS K 06a30Boi yactu brioka 1 «/lucuumiunel (Moyan)» yueOHOro IjiaHa.

OOydeHue aHTJIMHCKOMY SI3bIKY IIPOBOJUTCS] B TECHOU CBSI3M C U3Y4aeMbIMU MPOPMIUPYIOLUMHU JTUCLH-
IUTMHAMH, a TaKKe ¢ yueToM Oyyiiel npodeccuoHaaIbHOM e TEIbHOCTH BBIITYCKHHKA.

OOyueHre MHOCTPAHHOMY S3BIKY CTYAEHTOB HESI3BIKOBBIX CIIELIMAJILHOCTEH paccMaTpuBaeTcsi Kak Co-
CTaBHasl 4acTb BY30BCKOM MpOTrpamMMbl F'yMaHUTapH3alMd BBICIIEIO OOpa30BaHHUs, KaK OpraHUYecKas 4acTb
IpoLecca OCYIIECTBIEHUSI MOATOTOBKH BbICOKOKBAJIM(UIIMPOBAHHBIX CIIELUATNCTOB, aKTUBHO BIIAJCIOIINX
MHOCTPaHHBIM SI3bIKOM KaK CPEJCTBOM MHTEPKYJIbTYPHON M MEKHALMOHAJIILHOW KOMMYHUKALIUHU, KaK B cepax
podeccroHaAIbHBIX HHTEPECOB, TAK U B CUTYallUAX COLUAIbLHOIO OOILIEHUS.

1.4. llepeyeHb MIAHUPYEMBIX pe3yJIbTATOB 00yYeHHs MO JMCUHUIIHHE (MOIYJ10), COOTHECEHHBIX C
IUVIAHMPYEeMbIMH pPe3y/JIbTATAMH OCBOEHHS 00pa30BaTe/bHOM MPOrpaMMbl

W3ydyeHne NaHHOW NMCUMIUIMHBI HampaBieHO Ha (OpMHUpPOBaHHE Yy OOydarOIIMXCS OOIIEKYIbTYpPHOU
komrereHuu: OK-5

Nunexc Conepxxanmne B pesynbTaTe nuzydeHus: yaueOHON JUCITUTUIIHHBI
KOMIIe- KOMITETEHINH (WK €€ oOyuaronuecs J0KHbI
TEHIUU 4acTH) 3HaTh yMeTh BJIAJIEeTh
OK-5 CriocoOHOCTh K KOMMY- | - Oa30BbI€ ITpaBUIIa — UCMOJb30BaTh 0a- | - HaBbIKAMU YCT-
HUKAIMU B YCTHOU U YCTHOM ¥ MUCBMEHHOM | 30BBbIC IIPaBUJIA YCT- | HOM ¥ IUCBMEHHOMU
MMCBbMEHHOM (popmMax Ha | KOMMYHHUKAIIUM Ha HOM KOMMYHHUKAllMU | KOMMYHHKAI[MU Ha
PYCCKOM U MHOCTPAHHOM | PYCCKOM M MHOCTPAH- | U MUCbMEHHOM KOM- | pyCCKOM M MHO-
SI3bIKaX JJIsl peleHus HOM SI3bIKaX; MYHHKAI[MU Ha pyC- | CTPaHHOM SI3bIKax
3a]1a4 MEKJIMYHOCTHOTO | - CHCTEMHBIE MpeJi- CKOM M MHOCTpaH- s 3¢ HeKTUBHOM
1 MEXKYJIbTYpHOTO B3a- | CTaBJIEHUS O NpaBU- HOM SI3bIKax JJIst npodeccruoHab-
MO JIEHCTBHS JIaX YCTHOM M ITUCh- pelIeHus 3aaa4 HOW KOMMYHUKa-
MEHHOM KOMMYHHKa- | MEKJIUYHOCTHOIO 11y, crocodamu
LMY B PYCCKOM M MHO- | OOLICHMUS; MEXJIMYHOCTHOTO U
CTPaHHOM SI3bIKaX, O - HCTI0JIb30BAaTh MEXKYJIbTYPHOTO
dbopmax u crocobax KOMIUIEKC TIPaBHII B3aUMOJICHCTBUSA
3¢ (GEeKTUBHOIO MEX- | YCTHOM KOMMYHHKa-
JUYHOCTHOTO U MEX- | IIUU ¥ MUCbMEHHOM
KYJIbTYPHOTO B3aUMO- | KOMMYHUKAIIUM Ha
NEeNCTBUA PYCCKOM U MHO-
CTPaHHOM SI3bIKaX
1 3¢ (HEKTUBHOTO
pelieHus 3a1a4y
MEXJIMYHOCTHOTO
OOLIEHUS U MEX-
KYJIBTYPHOTO B3au-




Nunexc Conepxxanmne B pesynbTaTe nuzydeHus: yaueOHON JUCITUTUIIHHBI

KOMIIEe- KOMITETEeHINH (WK €€ oOyuaronuecs: J0IKHbI

TEHUUHU 4acTu) 3HaTh yMeThb BJIAJIEeTh
MOJICUCTBHUS

2. CTPYKTYPA U COAEPKAHUE TUCIUIIJIMHBI

2.1 Pacnpenesienue TPyA0EMKOCTH TUCHUILIMHBI 10 BUAaM padoT
OO6mmast Tpy10€MKOCTh AUCIUIUIMHBI COCTaBIIIeT 6 3a4.ei. (216 yacoB), UX pacrpesesieHne o BUAaM pa-
60T npencrasieHo B Tabiuie (s cryneHToB 390).

Bun yuebnoit paboTsl Bcero CemecTpbl
4acoB (dacer)

1 2 3 4
KonrakTHasi pabora (Bcero), B TOM 4ucJjie: 28,7 14 4.4 10,3 -
AyIUTOpHBbIE 3aHATHS (BCEro): 28 14 4 10 -
3aHATHUS JIGKIMOHHOTO TUTIA - - - - -
JlaGoparopHbie 3aHATHS 28 14 4 10 -
3aHATHS CEMUHAPCKOTO THUIA (CEMUHAPBI, TPAKTUUYECKHE
3QHSITHS) i i i i i
Nuas koHTakTHast padora (Bcero): 0,7 - 0,4 0,3 -
KonTpoas camoctositensHoM padoTsl (KCP) - - - - -
IIpomexyrounas arrectauus (MKP) 0,5 - 0,2 0,3 -
KonTposasnas pabora (KoP) 0,2 - 0,2 - -
CamocrosiTesibHas pa6oTa (Bcero), B TOM YHcJIe: 174,8 58 27,8 89 -

KypcoBast pabora - - - - -

[TpopaboTka yaeOHOTO (TEOPETHUECKOT0) MaTepraia - - - - -

Brmonnenne WHIAWBUAYAJIbHBIX 3a;[aH1/11?1 (BBIHOJ'IHGHI/IG

N 146,8 44 23,8 79 -
yIpaKHEHU)
IToaroroBka K TEKymemMy KOHTPOJIIO 28 14 4 10 -
KouTtpoJs: 12,5 - 3,8 8,7 -
[ToaroroBka K 3aueTy/3K3aMeHy 12,5 - 3.8 8,7 -
OO0masi Tpy10eMKOCTh qac. 216 72 36 108 -
B TOM 4HcJIe KOHTAKTHAS 28.7 14 4,4 10,3 _
pabora
3a4. efl 6 2 1 3 -

2.2 CTpyKTYypa AUCHHUILINHBI
Pacrnipenenennie BuoB yaeOHON pabOTHI M UX TPYIOEMKOCTH I10 pa3jeaaM JUCIUIUIMHBIL.
Pazgenbr quctunmael, n3ydaemsie B 1,2,3 cemectpax (3aouHas Gopma).

KosmuecTBo yacos
AynutopHas Breayu-
Ne HanmenoBanue pasnenos TOpHas
Bcero paborta
paborta
J | o3 | Jp CPC
1 cemectp
1 | Management 6 2 4
O06pa3zoBaHNEe MHOKECTBEHHOT'O YHCJIa UMEH CY-
5 | TMECTBUTETBHBIX. [IpuTtspkaTenbHbIN Naiek UMEH 4 4
CyIlIeCTBUTENbHBIX. [[OpSIOK CIOB B aHIITMKACKOM
IPeI0KEHUN
3 | Human Resources (HR) 6 2 4




KomnmyectBo yacos

Bueaynu-
Ne HanmenoBanue paznenos AYRMTOPHAA TOpHas
Bcero pabota
paborta
JI 113 JIP CPC

MectonmMenus (JTMYHBIC, IPUTDKATCIIBHBIC, YKa3a-
TEJbHBIE, BOTIPOCUTEIILHBIC, BO3BPATHEIE).

4 | KosmmuecTBeHHBIC MECTOMMEHUS. 4 4
Heomnpenenénnsie MeCTOMMEHUS some, any,
OTPHIIATEIIEHOE MECTOMMEHHE NO

5 | Marketing 6 2 4
KonudecTBeHHBIC YUCITHTEIBHBIC, TIOPSIKOBBIC

6 | yucnutenbHbie. CHpspKeHUE U yIIOTPEOJICHHE 4 4
riaroia to be, to have

7 | Public Relations 6 2 4

8 | OCHOBHBIC THITBI BOITPOCUTEIBHBIX MTPEIIOKESHUI 6 6

9 | Mass Media 6 2 4
Aptukib. YnorpeOieHne onpeeieHHOTo 1 He-

10 | ompeneneHHOTO apTUKIIA. YTIOTPEOICHUE apTHKIIS 6 6
¢ reorpaUICCKUMU Ha3BaHUSIMU

11 | Evolution of Public Administration 6 2 4

12 Hacrosmue Bpemena. YnoTpeOieHue u CriocoObl 6 6
oOpaszoBaHus

13 | State Structure: the USA 6 2 4
HUmoeo 6 I cemecmpe: 14 58

2 ceMecTp

14 | State Structure: the European Union 4 4

15 [Ipomenmue BpeMena. YnoTpeOiaeHHe u CrIoCOObI ) )
o0OpaszoBaHus

16 | State Structure: the UK 4 4

17 bynymue Bpemena. YnorpebiieHue u crocoObl ) )
obOpazoBaHus

18 | State Structure: the Russian Federation 4 4

19 | CornacoBaHue BpeMEH B aHIJIMICKOM SI3bIKE 2 2

20 | Basics of Economics 4 2 2
CreneHu CpaBHCHHSI IMCH ITPHJIAraTeIbHBIX.

71 CpaBHHTENBbHBIE KOHCTPYKIMU. Hapeune. ) )
Crenenu cpaBHeHUs Hapeuuil. MecTo Hapeuus B
PEUI0KECHUT

22 | Money and Banks 4 2 2

73 [Ipsimas u kocBeHHas peub. CriocoObl epeBoia 38 38
psSIMOY PeYr B KOCBEHHYIO ’ ’
Hmoeo 6 2 cemecmpe: 4 27,8

3 cemecTp

24 | Public and Municipal Finances 12 2 10
MoanbHbI€ TIaroJibl, OOIINE CBEICHHS.

75 MoanpHBI€ TIIAT0JIBI can, may. MoganbHbIe Tia- 12 ) 10
roJbl. [ 11arossl, BeIpakaromne JODKEHCTBOBAHUE
must, should, ought to

26 | Public Finance: Revenue and Expenditures 12 2 10

27 | CTpanaTenbHbIi 30T 14 14

28 | Infrastructure 12 2 10
Henuuneie popmsl rinarona. Mudunurtus. ['epyn-

29 . 12 12
qui. [puaactue 1. ITpugacrue 11




KonnuecTBo yacos
AynutopHas Breayu-
Ne HanmenoBanue paznenos TOpHas
Bcero pabota
paborta
JI 113 JIP CPC
30 | Social Protection 12 2 10
31 | Ynorpebnenue dpazoBeix raarojos. Hakmonenue 13 13
Hmoeo 6 3 cemecmpe: 10 89
Hmoeo no oucyuniune: 28 174,8

2.3. Conepxxanue pa3aeoB IMCUUIIIHHBI

B nmanHOM nonpasznene npuBOAMTCS ONKMCAHUE COJNEPKAHUS JUCLHUILINHBL, CTPYKTYPUPOBAHHOE 110 pas3ze-
JlaM, C YKa3aHUEM I10 KaxJIoMy pazzaeny Ghopmbl TeKymero Koutposs: JIY — nekcudeckue ynpaxHeHus; ['Y —
rpammaTuyeckue ynpaxsenus; K — keicer; T — TecTsl.

2.3.1 3auaTusd JeKIIHOHHOI0 THIIA
3anamus 1ekyuoHHo20 muna He npedycMompeHul.

2.3.2 3aHATHSA CEeMHHAPCKOI0 THIIA

3auamus cemunapckoeo muna He npeoycMompeHbl.

2.3.3 JIabopaTopHbIe 3aHATUA

HaumenoBanue pazgena

TemaTuka 1a00paTOPHBIX 3aHATUN

dopma
TEKYLIEro
KOHTPOJISI

Tema 1. Management

Management.
Lead-in.

Topical vocabulary.
Languages practice.
Reading.

Speaking.

Writing.

Jdy, T

Tema 3. Human Resources
(HR)

Human Resources (HR).

Lead-in.

Topical vocabulary.
Languages practice.
Reading.

Speaking.

Writing.

Jdy, T

Tewma 5. Marketing

Marketing.
Reading.
Speaking.
Writing.

Tema 7. Public Relations

Public Relations.
Lead-in.

Topical vocabulary.
Languages practice.
Reading.

Speaking.

Writing.

Jay, T

Tema 9. Mass Media

Mass Media.
Lead-in.
Topical vocabulary.

Jay, T
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HaumenoBanue pazgena

TemaTuka 1a00paTOPHBIX 3aHATUN

dopma
TEKYLIEro
KOHTPOJISI

Languages practice.
Reading.

Speaking.

Writing.

Tema 11. Evolution of Pub-
lic Administration

Evolution of Public Administration.

Lead-in.

Skimming: Interesting facts about the history of public ad-
ministration.

Advanced vocabulary practice.

Languages practice.

Detail reading.

Topical vocabulary.

Languages practice.

Writing.

Jdy, T

Tema 13. State Structure:
the USA

Skimming: How the USA is governed.
State Structure: the USA.

Detail reading.

Topical vocabulary.

Advanced vocabulary practice.

Jy, T

Tema 20. Basics of Econom-
1cs

Basics of Economics.

Lead-in.

Skimming: Twin Sciences.
Advanced vocabulary practice.
Languages practice.

Detail reading.

Topical vocabulary.
Languages practice.

Writing.

Jay, T

Tema 22. Money and Banks

Money and Banks.

Lead-in.

Skimming: Business that meets financial needs and eco-
nomic conditions.

Advanced vocabulary practice.

Languages practice.

Detail reading.

Topical vocabulary.

Languages practice.

Writing.

Jay, T

10

Tema 24. Public and Munic-
ipal Finances

The essence of Public Finance. The essence of Municipal
Finance.

Topical vocabulary.

Reading.

Speaking.

Languages practice.

Writing.

Jay, T

11

Tema 25. MopgansHEIC I'IIa-
TOJIbI, OOIIIHE CBEICHMS.
MoranbHBIE TIar0dkl can,
may. MojanbHbl€ I1aroisl.
['maronel, BeIpaxkaromme
JTOJDKEHCTBOBAaHMUE mMust,
should, ought to

1. MojanbHbIC TJIaroJibl, 00Ie CBeACHHUS.

2. MopanbHbl€ raarojisl may.

3. MopanpHbIe TIaroJisl can.

4. T'maroiibl, BRIp@XKaroIue JOJDKEHCTBOBaHUE must.

5. T'marosbl, BeIpakarouiye J10JpKeHCTBOBaHUE have to, be
to.

6. I'marosbl, BBIpaXaromue JI0JDKeHCTBOBaHME should,

Iy, T

7




dopma
No HaumenoBanue pazgena Temartuka 1ab0paTOPHBIX 3aHATUI TEKYILETO
KOHTPOJISI

ought to.
Grammar practice.

Budget and Public revenue. Public Expenditures.
Topical vocabulary.

Tema 26. Public Finance: Reading.

Revenue and Expenditures | Speaking.

Languages practice.

Writing.

12 Jay, T

Infrastructure and its role in economic development. Public
— private partnership in infrastructure projects.

Topical vocabulary.

13 | Tema 28. Infrastructure Reading. Y, T
Speaking.
Languages practice.
Writing.

Definitions, goals, types. Social Protection in different
countries.

Topical vocabulary.

14 | Tema 30. Social Protection | Reading. JV, T
Speaking.
Languages practice.
Writing.

2.4 llepevyeHb yueOHO-METOAMYECKOT0 0OecneYeHUs 1JIA CAMOCTOSITEIbHOI PadoThl 00y4aKOIIUXCS
10 AMCUUILINHE (MOAYJII0)

[Tepeuens yueOHO-METONNYIECKOTO 00ECTIEYCHUS TUCITUTUIMHBI 110 BBITION-

Ne Bun CPC .
HEHHIO CAMOCTOSITEIIbHON paboThI

1 ITpopaboTka yue6HOTO CamocrosiTenpHast paboTa CTYIEHTOB: METOJMUECKUE PEKOMEH AN
Marepuana i GakanaBpoB HarpaiieHus noarotoBku 38.03.04 'ocynapcTBeHHOE U

) [ToAroToBKa K TeKylleMy | MyHHIHIAIEHOE YIIPABICHHE, YTBEPKICHHbIE Kadeapoil SKOHOMUKH U
KOHTPOJIIO MeHemkMenTa (mpotokoi Nel ot 30.08.2018 1.)

3 Brimonaenune [TucbmMeHHbIe pabOTHI CTYACHTOB: METOANYECKHE PEKOMEHIAINH TSI
yrpaxxHEeHU I OaxanaBpoB HanpaiaeHus noArotosku 38.03.04 I'ocynapcTBeHHoE U

MYHHIMIIAJIBHOE YIIPaBJIEHUE, YTBEPKACHHbIE Kadepoil SIKOHOMUKH U

4 | Konrposmwuas padota MeHnemkMenTa (mpotokoi Nel ot 30.08.2018 1.)

JlaGoparopHbie pabOTHI CTYJEHTOB: METOAMYECKUE PEKOMEH AU IS
Brinmonnenue nabopa- OakanaBpoB HarpasieHus: noarotosku 38.03.04 'ocymapcTBeHHOE U
TOPHOM paboOThI MYHHIIMIIAJIBHOE YIIPaBJIEHUE, YTBEPKACHHbIE Kadeapoil SIKOHOMUKH U
MeHempkMenTa (mpotokon Nel ot 30.08.2018 r.)

Y4eOHO-MeTOAMYECKHE MaTepraIbl AJI CAMOCTOSTENIbHON paboThl 00Y4aIOIIKMXCs U3 YK CIIa UHBAIUOB U
JIUI] C OTPaHUYEHHBIMHU BO3MOXKHOCTAMH 3710poBbs (OB3) npenocTasisitorcst B popmax, aaliTHPOBAHHBIX K
OTpPaHUYEHUSIM UX 3/I0POBbS U BOCIIPUATHUS HHPOPMALUH:

Jjig U1 ¢ HapyIIEHUSIMU 3PEHUS:

— B IIe4aTHOU opme yBEIIMYEHHBIM LIPUPTOM;

— B (hopMe 3JIEKTPOHHOT'O JOKYMEHTA.

JList AL ¢ HapyHIEHUsIMHU CITyXa:

— B IIe4aTHOU (opme;

— B (hopMe JIEKTPOHHOTO JOKYMEHTA.

Jljig U1l ¢ HapyIIEHUSIMH ONIOPHO-JIBUTaTEIbHOTO anmnapara:

— B IIe4aTHOU (opme;

— B (hopMe 3JIEKTPOHHOT'O JOKYMEHTA.



JlaHHbBIN TIepeYeHb MOXKET ObITh KOHKPETU3UPOBAH B 3aBUCUMOCTH OT KOHTUHI€HTa 00yJaromIuXcsl.
3. OBPA3OBATEJIBHBIE TEXHOJIOI'MHU

B npouecce u3ydeHust JUCUMILIMHBI 3aHATHS J1a0OPATOPHOTO THUIA SBIISAIOTCA BeayliuMu Gopmamu o0y-
YeHMs B paMKax 00pa30BaTeIbHON CUCTEMBI.

B yueGHOM nporiecce nCHob3yOTCS Clleytonne 00pa3oBaTeIbHbIE TEXHOJIOTHU!

— TEXHOJOrHUs NpoOJIEeMHOr0 00Y4YeHHUS: TOCIEeI0BATENbHOE U LIEJICHANPABICHHOE BbIIBUKEHUE MTEPE]
CTYIEHTOM I103HABATENIbHbBIX 3a/1a4, pa3pelias KOTOPbIe CTYI€HThl aKTUBHO YCBAUBAIOT 3HAHMS;

— TEXHOJIOTHS pa3BUBAIOLIETO OOyUYEHHsI: OpUEHTAIMs y4eOHOTo Mpoliecca Ha MOTEHI[MAIbHBIE BO3MOXK-
HOCTH Y€JIOBEKA U UX pealln3aluio;

— TexHozorus auddepeHMpoBaHHOTO 00yUYeHHsI: YCBOEHUE MPOrpaMMHOI0 MaTepuasa Ha pa3IndHbIX
IUTAaHUPYEMBIX YPOBHSX, HO HE HIXKE 0053aTeIbHOr0;

— TEXHOJIOTUSl aKTUBHOTO (KOHTEKCTHOT0) 00Y4eHHUs: MOJEIMPOBAHHE MTPEIMETHOTO U COLIMAIILHOTO CO-
nepkanus Oyaymiel mpodecCuoHATBHOM eATeIbHOCTH;

Takxe Mpu OCBOEHMM AMCLUMIUIMHBI B Y4€OHOM IPOLECCE MCIHOJIb3YIOTCS AKTUBHBIE U MHTEPAKTUBHBIE
(B3aumMoeiicTBytromue) Gopmbl NPOBEACHUS 3aHITUH.

JUig U1 ¢ OrpaHUYEHHBIMU BO3MOYKHOCTSIMU 370POBbSI IIPEYCMOTPEHA OpraHu3alus KOHCYIbTAlUH C
HCI0JIb30BAHUEM AJIEKTPOHHOMN MOYTHI.

4. OHEHOYHBIE CPEACTBA JJIsA TEKYIIEI'O KOHTPOJIA YCIIEBAEMOCTHU U
MMPOMEXYTOYHOM ATTECTAIIUA

4.1 @D oHJ O1LIEHOYHBIX CPEaCTB AJIA MPOBEACHUSA TEKYHIECro KOHTPOJIHA

@DOHJ1 OLICHOYHBIX CPEACTB MO AUCHUIUIMHE 0()OPMIIEH KaK OTJEIbHOE MPUIIOKEHNE K padouell mporpam-
Me.

IIpumepHbIe JeKcnYeckne YIpaskHeHUst

Tema 1. Management
[IpounTaiiTe U epeBEIUTE TEKCT.
Definition of Management
Management is based on scientific theories and today we can say that it is a developing science.
But knowledge of theories and principles doesn’t provide practical results. It is necessary to know how to apply
this knowledge. Practical application of knowledge in the management area requires certain abilities or skills.
Here is an example:
Depending on its size, an organization may employ a number of specialized managers who are responsible for
particular areas of management. A very large organization may employ many managers, each responsible for
activities of one management area. In contrast, the owner of a sole proprietorship may be the only manager in
the organization. He or she is responsible for all levels and areas of management.
What is important to an organization is not the number of managers it employs but the ability of these managers
to achieve the organization’s goals, and this ability requires a great skill.
In the other words, management is the process of coordinating the resources of an organization to achieve the
primary organizational goals.
Main Resources
Managers are concerned with the following main resources:
1. Material resources are physical materials and the equipment used by an organization to make a product. For
example, cars are made on assembly lines. These assembly lines and the buildings that house them are material
resources.
2. The most important resources of any organization are its human resources — people. Some firms believe that
their employees are their most important assets. To keep employees content, a variety of incentives are used ,
including higher-than-average pay, flexible working hours, recreational facilities, lengthy paid vacations, cafe-
terias offering inexpensive meals, etc.
3. Financial resources are the funds the organization uses to meet its obligations to various creditors. A grocery
store obtains money from customers and uses a portion of that money to pay the wholesalers from which it buys
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food. A large bank, borrows and lends money. A college obtains money in the form of tuition, income from its
endowments, and federal grants. It uses the money to pay utility bills, insurance premiums, and professor’s sal-
aries. Each of these transactions involves financial resources.

4. Finally, many organizations increasingly find they cannot ignore information. External environment — includ-
ing the economy, consumer markets, technology, politics, and cultural forces — are all changing so rapidly that
an organization that does not adapt will probably not survive. And, to adapt to change, the organization must
know what is changing and how it is changing. Companies are finding it increasingly important to gather in-
formation about their competitors in today’s business environment.

It is important to realize that these are only general categories of resources. Within each category are hundreds
or thousands of more specific resources, from which management must choose those that can best accomplish
its goals. Managers must coordinate this complex group of specific resources to produce goods and services.
Exercises

1. Translate into Russian.

Employ managers; a number (of); a variety (of); management area; the only manager; the owner of a
sole proprietorship; levels and areas of management; to achieve the organization’s goals; a great skill, human
resources; tangible (material) resources; primary goals; employee; assets; recreational facilities; lengthy paid
vacation; meet obligations; money; obtain money; income; insurance premium; salary; consumer market; sur-
vive; competitor; accomplish goals; produce goods and services; grant; wholesaler; endowment; utility; utility
bills; borrow and lend money; salary; practical results.

2. Find the English equivalents.

HayuHble Teopuu; MpakTUYECKHE PE3yabTaThl; YIIPABIATH JICIOBBIMEH (UPMaMH;, HaHUMaTh MEHEKe-
poB; obsacth(cepa) ympaBieHus ; BiIaaeell eANHOIMYHON COOCTBEHHOCTH; €IMHCTBEHHBIN; TOCTUTATh Opra-
HU3AI[MOHHBIC IIeTH; OOJIBIIOE MACTEPCTBO; JTOXOJ; OCHOBHBIE LIEIH OpPraHU3aIlH;, MaTepHaIbHBIE PECYpPCHI;
CIIY)KaIlIUH; ONTOBHK; CTUMYJI; [UTHTCILHBIA OIJIAYMBACMBIN OTITYCK; 3aHUMATh JCHBIU; IaBaTh JICHBI'H B JIOJIT;
OIUIAUMBaTh CYETa MPEANPHUATHH KOMMYHAIBHOTO OOCITY)KMBAaHWS; CTpaxoBas MpeMus; 3apruiata; (huHaHCO-
Bas) omepauusi; (OHJ; NOTPEOUTEIbCKUN PHIHOK; BBIKUBATh; MPUCIIOCOOUTHCS K H3MEHEHUIO; KOHKYPEHT;
OCYILIECTBUTDH LIE€JH; TOBApbl U YCIYI'H; aKTUBbI; MOOYIUTENbHBIA MOTUB; cyOcuaus (O0e3Bo3BpaTHas ccyna);
MO0’KepTBOBaHUE (0J1arOTBOPUTENBHBIN B3HOC).

3. Fill in the blanks.

1. Management is based on ..... and today we can say that it is ..... .

2. The owner of a sole proprietorship may be the only ..... in the organization.

3. Management is the process of coordinating the resources of an organization to achieve the ..... of the organi-
zation.

4. Managers are concerned with four types of ..... .

5. Material resources are ...... resources.

6. Human resources are perhaps the most ..... resources.

7. To keep employees content, a variety of ...... are used.

8. A'large bank ..... and ..... money.

9. External environment is changing so rapidly that the organization that does not adapt will probably not ......
10. Companies are finding it increasingly important to gather ..... about their ..... .

11. Managers must coordinate the complex group of specific resources to produce ...... and .....

4. Translate into English.

1. MeHeIKMEHT OCHOBAH Ha HAyYHBIX TEOPHSIX.

2. MeHeKMEHT — 3TO MPOLECC KOOPIAUHAIIMY PECYPCOB OPTraHU3aAIMH IS TOCTH)KCHUST OPraHU3alMOHHBIX I1e-
Jen.

3. MeHepKephl 3aHUMAOTCS YeTHIPhMS BUAMH PECYPCOB: MaTepHUaIbHBIMU, (PMHAHCOBBIMH, JIFOJICKUMH U WH-
(bopMaLMOHHBIMHU.

4. HanbGomnee BaXHBIMHU peCypcaMu JIFOOOW OpraHu3aIliy SBIISIOTCS JIFOJACKHAE PECYPCHI.

5. JIns ynoBIETBOPEHMS CIIY/KALKUX UCIIOJIB3YETCS PsIi CTUMYJIOB.

6. MatepuanbHbIe pecypchl — 3TO MaTepUalIbl, U3 KOTOPHIX M3TOTOBJICHA MPOIYKINs, a TAK)Ke 000pyIoBaHUE,
HCTIONIb3yeMOoe IS € MPOU3BOICTBA.

7. ®duHAHCOBBIE pecypchl — 3TO (HOHIBI, KOTOPHIC MCIIOJIB3YeT OpraHW3alMs I TOBBIMICHUS CBOMX 00si3a-
TEJBCTB NEPe] Pa3IMYHBIMHA KPEAUTOPAMH.

8. BHenrHee okpyKeHHe, BKII0Yas YKOHOMHKY, MOTPEOUTEIIBCKUE PHIHKH, TEXHOJIOTHIO, TIOJUTHKY U KYIbTYp-
Hble (PAKTOPBI, U3MEHSAETCS OUEHb OBICTPO.

9. Opranuzanusi, kKoTopas He npucnocadnupaercs (adapt to) K BHEIIHEMY OKPYKEHUIO, MOXKET HE BBIKUTb.
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10. Komnanuu cuutator 0osiee BaKHbIM cOOUpaTh HH(POPMALINIO O CBOMX KOHKYpEHTAaX.
5. Answer the questions.

1. What can you say about management in general?

2. Why does a large organization employ many managers?

3. What is important to an organization?

4. Does the ability to achieve organizational goals require a great skill?

5. What can you say about management as a process?

6. What main resources are managers concerned with?

7. What incentives are used to keep employees content? Why?

8. How does an organization obtain financial resources? Give some examples.

9. Is external environment including the economy? Consumer markets etc. changing rapidly?
10. What must an organization do to survive?

IIpumepHbIe rpaMMaTHYeCKHE YIIPAKHEHHSA

Tema 25. MoaaabHble 1J1aroJibl, 00uue ceeaenns. MogaabHble ri1aroJibl can, may. MoaajibHble 1j1aro-
Jabl. ['J1arossl, Bbipakaomme J0J:KkeHcTBOBaHue must, should, ought to

1. Comment on the meaning of modal verbs. Translate into Russian.

1. On the fourth day, feeling that she could bear the suspense no longer, she telephoned to Fleur and asked if
she might come up to them. 2. I should be grateful if you would keep your hands off my business in future. 3.
You know you didn't dare give the order to charge the bridge until you saw us on the other side. 4. Poker
shouldn't be played in a house with women. 5. They didn't have to worry about money. 6. Although his resi-
dence and his family were in the country, he was frequently to be found about the restaurants and resorts of the
radical section of the city. 7. She would not answer me, of course, but went on cording the crate. And when |
thought it was done with, she found a volume slipped under a chair, and she would open up the crate and put it
in. 8. "I suppose you know what I've been through since that bag came this morning," said mother. "You might
have had some consideration for me. There is simply no excuse for all this." 9. You need not meet him unless
you like. 10. He's... let me see... He can't be more than thirty, dear. 11. Misha followed her, and they were to be
seen a moment later in conversation. 12. Meanwhile, Margaret seemed to hear a faint knocking, but as no one
appeared to hear it, she thought she must be mistaken. 13. And of course you should have introduced us long
ago. 14. I could not, and would not, believe that she was becoming interested in me. That could not be. 15. An-
yhow, John won't hear of you seeing her. 16. And here now was this young and promising doctor, who could, if
he would, keep her supplied with work, and might even eventually marry her. 17. Aubrey: What is to be her
future? It is in my hands; what am I to do? 18. Your family may object to me; and then it will be all over be-
tween us. 19. Rosa reflected, as the train was leaving Naples, that perhaps she ought not to have left Hunter
alone. 20. How dare he speak so to me? 21. I need hardly say I would do anything in the world to ensure
Gwendolen's happiness. 22. How dare you address me as dear Sir, Sir? How dare you look me in the face and
do it, Sir? 23. Mama came down, and in a voice which was both astonished and distraught, exclaimed: "Grand-
pa is not upstairs. Where can he have gone?" 24. But you might have been firing away at the Australians still if
we cavalry fellows hadn't found the ford and got across. 25. You must be dying with curiosity. Take a peep. 26.
Madam, may I speak 'to you a moment? 27. She gazed at me severely. "You ought to be in at your essay." 28.
"Land ought to be very dear about there," he said. 29. The substance of her observations, along with those of
others, is to be found in a series of articles published in a series of screen publications of the time. 30. But
you've got to finish college. We can't get married for a long time. 31. Cain said: "I don't have to pay to find that
out. I could have asked anybody at the meeting, and found out." 32. Soames would often come down to watch
with secret pride the building of the house which was to have been his home. 33.. Miss Femm opened the door.
"I've none of this electric light. I won't have it. You'll have to wait till I've lit the candles." 34. "Well," James
said, with a nervous emphasis, "l don't see what you want with a tree." "It shall come down to-morrow," said
Bosinney. 35. "What are we to do?" she gasped. "Can't we stay here? Shall I lock the door?" 36. I felt suddenly
dizzy with pain and unable to face whatever scene was to follow. 37. But Sally, with a towel round her, went
down to the water's edge. "You're to come out this minute, Philip," she called, as though he were a small boy
under her charge. 38. It seemed like an age, but I suppose the whole thing can't have lasted thirty seconds real-

ly.
IIpumepHbIe Keiicbl
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Tema 5. Marketing
Channels of Marketing
[IpounTaiiTe TEKCT U BBHIMOJIHUTE 3a/IaHUSI.
1. Individual consumers and corporate buyers are aware that thousands of goods and services are available
through a very large number of diverse channel outlets. What they may not be well aware of is the fact that the
channel structure, or the set of institutions, agencies, and establishments through which the product must move
to get to them, can be amazingly complex.
2. Usually, institutions specializing in manufacturing, wholesaling, retailing, and many other areas join forces
in marketing channel arrangements to make possible the delivery of goods to industrial users or customers and
to final consumers. The same is true for the marketing of services. For example, in the case of health care deliv-
ery, hospitals, laboratories, insurance companies, and drugstores combine efforts in an organized channel ar-
rangement to ensure the delivery of a critical service.
3. Therefore, marketing channels can be viewed as sets of interdependent organizations involved in the process
of making a product or service available for use or consumption. Not only do marketing channels satisfy de-
mand by supplying goods and services at the right place, quantity, quality, and price, but they also stimulate
demand through the promotional activities of the units (e.g., retailers, manufacturers' representatives, sales of-
fices, and wholesalers) comprising them.
4. The major focus of marketing channel management is on delivery. Producers of goods (including manufac-
turers of industrial and consumer goods, legislators, educational administrators and insurance companies) are
individually capable of generating only form or structural utility for their «productsy.
3aBepinTe yTBepKICHHE COTIACHO COJIEPIKAHHUIO TEKCTA.
Marketing channels raise demand through the joint efforts of ...
1 retailers, wholesalers and sales offices
2 hospitals, laboratories, insurance companies
3 legislators, educational administrators and insurance companies
4 retailers, insurance companies and legislators
OTBeTHTE Ha BOMPOC:
What does the structure of channel outlets consist of ?
1 It consists of establishments through which the goods are delivered to consumers.
2 It consists of a number of individual consumers and organized buyers.
3 It consists of a set of hospitals, laboratories, insurance companies, and drugstores.
4 It consists of legislators, educational administrators and insurance companies.
Omnpenennute OCHOBHYIO HJICIO TEKCTA.
1 Marketing channel is a complex network of joined independent organizations with the purpose of deliver-
ing goods and services and increasing demand.
2 Marketing channels stimulate demand through the promotional activities of retailers, manufacturers' repre-
sentatives, sales offices, and wholesalers.
3 Public and private goods could be available for consumption only through distribution through different
marketing channels.
Legislators, educational administrators and insurance companies use the channels of marketing to distribute
their products.

IIpumepHbIe TeCThI

Tema 1. Management
1. The country’s economy is in crisis. Unemployment quickly.
a) 1s rising
b) rises
C) rose
2. If I knew anything about the matter, | you.
a) will tell
b) would tell
¢) would have told
3. The line was shut down for two hours as a result of damaged machinery.
a) production
b) delivery
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c) control

4. The unemployment is the percentage of the labour force which is out of work.

a) rate

b) product

c) average

5. As the field survey shows, very customers (about 6 %) find the design of our goods attractive.
a) little

b) few

c) afew

6. A successful manager must be in his/her own ability to deal with difficult situations and show the
qualities of leadership.

a) confident

b) initiative

c) accountable

7. The Intel Corporation is biggest producer of microchips.

a) a

b) the

c) an

8.1 on the final report all day yesterday. Tomorrow I'm making a presentation.

a) had worked

b) have been working

c) was working

9. Information on prices is available to brokers throughout the world.
a) share

b) market

c¢) trading

10. Our new packaging is attractive the previous one. As the result the sales have risen
this month.

a) as...as

b) more ... than

c) most ...as

4.2 @D oHJ O1LIEHOYHBIX CpPpeaCTB AJisl IPOBEACHUSA l'[pOMe)KyTO‘{HOﬁ aTrrecranmumn

KonTtpoJsbHas padora
2 cemecTp

BapuanTt BbiOupaetcs no nocneanen nudpe 3aueTHoi kHWKKK: 1-Bapuant 1, 2-Bapuanr 2, 3-Bapuant
3, 4-Bapuanr 4, 5-Bapuant 5, 6-Bapuanr 6, 7-Bapuanrt 7, 8-Bapuant 8, 9-Bapuant 9, 0-Bapuant 10.

Kaxxnas pabota BbINnosHseTCA B Ie4aTHOM Buje Ha Jinctax popmarta A4. TUTyapHBIN JUCT 0dopMIIsieT-
cs mo oOmuM TpeboBaHUAM. [Ipu BBINOIHEHUH KOHTPOJIBHOW pabOThI ClENyeT MOJHOCTHIO MEPENuChIBAaTh
(bopMynupOBKY 3a1aHuil. BeINOIHSAS epeBo/] TEKCTa, Ciie/lyeT CHavajla mucaTh Ha3BaHUE TEKCTa MO-aHTIMICKU
C IIEPEBOJIOM, a 3aT€M UepeoBaTh ad3allbl TEKCTA U UX IIEPEBOI.

Ecnu BbINOJIHEH HECOOTBETCTBYIOLIMI BapuaHT, paboTa HEMpPaBUILHO O(OpMIIEHA WM BBHINOJHEHA HE
IIOJIHOCTBIO0, OHA BO3Bpalnaercs Juid JopaboTku. Eciin paboTta He 3auTeHa, ee cielyeT BbIIOJIHUTh 3aHOBO, Y4UH-
ThIBasi 3aMEYaHUs PEeLEH3EHTa

Variant 1.
I Read the following text and translate it in writing:
ENTREPRENEURSHIP

An entrepreneur organizes an enterprise. He also takes the risk of a business in return for the profits. He
buys the workers' products (their labour services). The workers receive wages in return for their work. An en-
trepreneur also introduces new products or processes. He identifies markets and sources of supply.

In many cases, owners delegate decisions to managers. Is a salaried manager an entrepreneur, too? Some
people think that owners very seldom delegate a key decision to managers, because owners do not trust them.
But in practice many subordinates have incentives to maintain the company's well-being because their pro-
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motion depends upon it. In this sense, both owners and managers can be entrepreneurs. So, an entrepreneur is
either an owner or a manager who shows judgement in decision making.

Judgement helps to make successful decisions. An entrepreneur needs judgement to speculate on future
price movements, as well as to deal with the novel situations.

The demand for entrepreneurs rises in times of political, social, and environmental change. Supply usually
matches demand, so more people give up other careers and become entrepreneurs. They have incentives to do
so by the higher expected rewards, and also by increases in the social status of entrepreneurs.

The supply of entrepreneurs depends also on their personality, culture, and life experience.

To identify profitable opportunities the entrepreneur synthesizes information from different sources. A
good education and wide-ranging practical experience helps the entrepreneur to interpret information. Sociabil-
ity also helps the entrepreneur to make contact with people he works with — both customers and colleagues.

II Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) Who organizes an enterprise?

2) Why does he take the risk of a business?

3) What do the workers receive in return for their work?

4) What does the businessman identify?

5) Who do owners delegate decisions to?

6) Is a salaried manager an entrepreneur, too?

7) Why do some people think that owners very seldom delegate a key decision to managers?
8) Why do many subordinates have incentives to maintain the company's well-being?
9) What does the subordinates' promotion depend upon?

10) What do the owners show judgement in?

2. Fill the blanks with the words from the text.

1) An entrepreneur an enterprise.
2) He takes the risk of a business in for the profits.
3) He buys the workers' services.
4) The workers receive in return for their work.
5) An entrepreneur new products or processes.
6) He identifies and sources of supply.
7) Owners delegate decisions to .
8) Owners very seldom a key decision to managers.
9) Many subordinates have to maintain the company's well-being.
10) A manager shows in decision making.
3. Match the parts of the sentences to each other.
1) An entrepreneur organizes a) decisions to managers.
2) He also takes the risk of b) managers.
3) The workers receive ¢) new products or processes.
4) An entrepreneur also introduces d) a business in return for the profits.
5) He identifies €) an enterprise.
6) Owners delegate f) a key decision to managers.
7) Owners very seldom delegate g) markets and sources of supply.
8) Owners do not trust h) wages in return for their work.
9) Subordinates have 1) judgement in decision making.
10) A good manager shows J) incentives to maintain the company's well-
being.
4. Find the English equivalents of the following Russian words in the text:
1) mpeanpuHUMAaTEINb 11) ucrounux
2) KJIIOYEBOE PEIICHUE 12) mocTaBKmM
3) mpuUHSATHE pelIeHUs 13) nenerupoBathb
4) opraHu30OBHIBATH 14) pemenune
5) ompenenarb 15) Bo3Bpamarh
6) KI04YeBOi 16) npuObLIL
7) cyxneHue 17) pabouas cuna
8) nmoOyxaeHue 18) obcnyxuBaHue
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9) pbIHOK 19) nonnepxuBaTh

10 mpuHUMAaTh PUCK 20) mpoaBMWKEHUE

5. Translate the following sentences into English.

1) Ilpennpunumarens OepET Ha ceds pUCK, CBA3AHHBIN ¢ OM3HECOM, HAJESICh HA MOJIyYeHUE TPUOBLIH.

2) Paboune nosyyarot 3apruiaTy B 0OMEH Ha CBOIO padoTy.

3) IpennpuHUMAaTENh TaK)Ke BHIBOJUT HA PHIHOK HOBBIEC ITPOIYKTHI.

4) Bo MHOTHX CITydasiX BIaJelbIbl JeJIETUPYIOT MEHEKEPaM MPaBO MPUHITHS PEUICHUH.

5) Brnanenbiiel HE TOBEPSAIOT MEHEKEPaM.

6) IlpenmpuHUMATETIO HEOOXOIMUMBI CIIOCOOHOCTH K CAMOCTOSITEILHOMY CYXKJICHHIO, YTOOBI MPEIBUIET OY-
IyIIue N3MEHEHHS [IEH.

7) Crnpoc Ha npeanpuHUMAaTeNe BO3pacTaeT BO BpEMEHA MOJIUTHYECKUX IEPEMEH.

8) IlpemnoxxkeHne 0OBIYHO COOTBETCTBYET CIIPOCY.

9) Ux mortuBanus — 60s1ee BBICOKOE 05KMJIa€MOE BO3HArpaXACHUE.

10) YtoOBI onpenenuTh MPUHOCAIINE BBITOy BO3MOXXHOCTH, IPEANPUHIMATENb CHHTE3UPYET HHPOPMAIIHIO U3
Pa3IMYHBIX UCTOYHHUKOB.

I Translate the following dialogues from Russian into English:

1. A: TIlpuser!
B: Ilpuser!
A: Kaxk te6s 30ByT?
B: Aunekc. A Te6s?
A:  xon. Otkyna Te1, Anekc?
B: A w3 Poccun. A TH1?
A: A g u3 BenukoOputaHuu.
B: IlpustHo ¢ To60¥ no3HaKOMHUTHCS, [I>KOH.
A: BsaumHo.

2. A: Bpsl31ech 10 Aenam Wiu Ha OTAbIXxe?

B: [Ilo nenam.
A: Bpel 31€ch B iepBblIii paz?
B: Her, g Obuta 31€ch MHOTO pa3.
A: Bawm 3nece HpaButcs?
B: HopmansHo.

3. A: Ckonbko Bam jet?
B: Ms=He copok Tpu.
A: Bpsi xenartsr?
B: Her, u HuKOT 1A HE OBLI.
A: UeM Bbl 3aHUMAETECH?
B: A nokrop.
A: Bawm HpaBuTtcs Baia padota?
B: [a, oueHb HpaBuTCH.
A: A uyeM BbI 3aHUMAaeTeCh B CBOOOIHOE OT pabOThI Bpemsi?
B: S 1106110 €31UTh HA CIOPTKapax U TOTOBUTb.

Variant 2.
I Read the following text and translate it in writing:
PROPERTY RIGHTS

The fundamental requirement of a market economy is a strong system of property rights.

A property right is the exclusive authority to determine how to use and service a resource. Thus, for ex-
ample, the owner of an apartment with complete property rights to the apartment has the right to determine
whether to rent it out or to live in it himself. He has the right to determine which tenant to rent the apartment to.
He can also use it in any other peaceful way. If the owner rents out the apartment, he also has the right to all the
after-tax rental income from the property.

A private property right includes the right to delegate, rent, or sell any portion of the rights by exchange or
gift at the price the owner determines. If [ am not allowed to buy some rights from you and you therefore are
not allowed to sell rights to me, private property rights are reduced. Thus, the three basic elements of private
property are (1) exclusivity of rights to the choice of use of a resource, (2) exclusivity of rights to the services
of a resource, and (3) rights to exchange the resource at mutually agreeable terms.
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The market values of property reflect the preferences and demands of the rest of society. This creates an in-
teresting paradox: although property is "private," owners make private decisions in accordance with public, or
social, evaluation of their property. Thus one cannot sell his or her house at a price which is higher than the
market price.

The fundamental purpose of property rights is that they eliminate destructive competition for control of
economic resources. Well-defined and well-protected property rights replace competition by violence with
competition by peaceful means.

Private property rights do not conflict with human rights. They are human rights. Private property rights are
the rights of humans to use specified goods and to exchange them. Private property rights protect individual lib-
erty.

Under socialism private property rights are reduced. Here government agents control resources. The rights
of these agents to make decisions about the property they control are highly restricted. People cannot put the re-
sources to more valuable uses by purchasing the rights because the rights are not for sale at any price. As so-
cialist managers neither gain when the values of the resources they manage increase, nor lose when the values
fall, they have little incentive to work. Consider, in this case, the socialist manager of a collective farm. If he
works every night for one week, he can make, say, 1 million rubles of additional profit for the farm by arrang-
ing to transport the farm's wheat to the city before it rots. But if neither the manager nor those who work on the
farm can keep even a portion of this additional profit, the manager is more likely to go home early and let the
crops rot.

II Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) What is the fundamental requirement of a market economy?

2) What is a property right?

3) What rights may the owner of an apartment have?

4) What income does the owner of an apartment have the right to?
5) When are the property rights reduced?

6) What are the three basic elements of private property?

7) Whose preferences and demands do the market values of property reflect?
8) Under what system are private property rights reduced?

9) Who controls resources under socialist system?

10) Why don’t socialist managers have incentives to work?

2. Fill the blanks with the words from the text.

1) The fundamental of a market economy is a strong system of property rights.

2) A property right is the authority to determine how to use and service a resource.

3) The owner of an apartment has the right to whether to rent it out or to live in it.
4) He has the right to determine which to rent the apartment to.

5) He can also use it in any other way.

6) Ifthe owner out the apartment, he also has the right to all the income.

7) A private property right the right to sell any portion of the rights."

8) If you are not allowed to sell rights to me, private property rights are

9) One of the three basic elements of property is exclusivity of rights.

10) Another element is the of rights to the services of a resource.

3. Match the parts of the sentences to each other.
1) The fundamental requirement of a market econ-  a) the after-tax rental income.

omy is b) it out or to live in it himself.

2) A property right is c) the exclusive authority to determine how
3) The owner of an apartment has to use a resource.

4) The owner can determine whether torent  d)you, private property rights are reduced.

5) He can also use it in e) mutually agreeable terms.

6) He also has the right to all f) the choice of use ofa resource.

7) A private property right includes theright g)a strong system of property rights.

to sell h) complete property rights to the apartment.
8) If I am not allowed to buy some rights from 1) any portion of the rights.

9) Owners have exclusive rights to j)any other peaceful way.

10) We can exchange the resource at
4. Find the English equivalents of the following Russian words in the text:
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1) meHHOCTH 11) nomomHUTETBHBIN

2) mpenno4YTeHue 12) mmenuna

3) co3naBaTh 13) Ha nponaxy

4) oueHka 14) co3naBatp

5) yHUYTOXATh 15) B cooTBeTCTBUU
6) pa3pymIHUTEIbHBINA 16) cBoGo1a

7) &ECTOKOCTh 17) ruTh

8) 3aMeHATh 18) nenHsIit

9) yenoBeueckuit 19) orpannumuBaTh
10 copeBHOBaHuUE 20) uenp

5. Translate the following sentences into English.

1) CoOcTBeHHUK OIpeneseT, KaK UCIO0JIb30BaTh U 0OCITYKHUBATh Pecypc.

2) S cam XuUBY B MO€il COOCTBEHHON KBapTHUDE.

3) CoOcCTBEHHUK MOXKET CcJaBaTh KBAPTUPY B apeHY.

4) CoOCTBEHHUK MOXET TaKXKe PACTIOPSKATHCS CBOEH COOCTBEHHOCTHIO JTIOOBIM MHUPHBIM CITIOCOOOM.
5) CoOCTBEHHHK MOJIy4aeT BECh JOXOJ OT apCH/IbI MOCIIE YIUIAThl HAJIOTOB.

6) CoOCTBEHHHK MOKET MPOAATH JIFOOYIO YaCTh CBOUX MPaB Ha COOCTBEHHOCTb.

7) IlpaBUTENHCTBO MOKET OTPAaHUYNTH HAIIH ITPaBa HA COOCTBEHHOCTb.

8) MpbI oOcinykrBaeM UMEIOIKECS B Hallle COOCTBEHHOCTU PECYPCHI.

9) CobcTBeHHUKH YacTO OOMEHHBAIOTCSI pECYpCaMU Ha B3aUMOIIPUEMIIEMBIX YCIOBUSX.
10) Copoc Ha mpeanpuHUMAaTeNeld BO3pacTaeT BO BPEMEHA IMEPEMEH.

I Translate the following dialogues from Russian into English:

1. A: Bpsicrynent?
B: la, s u3y4yar 5KOHOMHKY B YHUBEPCHUTETE.
A: 'V Bac ecTb Kakas-HHOyIb paboTa ¢ YaCTUUHOM 3aHITOCTHIO?
B: [a, s paboTato opunmanTom.
2. A: [lapaiite cxoauM Kyna-HUOyAb NMOY)XHHaeM. S 3HaIO0 O4YEHb XOPOLIUI AMOHCKUI pe-
B: cropan.
A: 3Byunt 3aMaHuuBO! S 04eHB JIFOOIIO ATTOHCKYIO KYXHIO.
B: Ilouemy ThI Jt0OUIIb SITOHCKYIO KyXHIO? ThI lyMaellb OHa roJie3Hast?
Koneuno. B Heil MHOTO CBEXHX MOPENPOAYKTOB U PHUCA.
3. A: Bbl 04eHb XOPOIIO TOBOPUTE MO-HEMELIKH.
B: Cnacubo.
A: T'ne BbI ero yuminu?
B: Mos nepBas xeHa Oblja HEMKOM.
A: A xakoil Baml poJTHOM SI3bIK?
B: HWraneaackuii.
Variant 3.
I Read the following text and translate it in writing:
COMPETITION

Competition permeates economic life. Prices, wages, methods of production, types and quantities of
products, the size and organization of business firms, the distribution of resources, and people's incomes all re-
sult from competitive processes.

Consider market prices for consumer goods. The baker has on hand a stock of bread, a valuable good for
which consumers are willing to compete by offering the baker a price. The baker wants to get the highest price
possible, but he is constrained. If he sets his price too high, customers will not buy all that the baker has pro-
duced. They will buy from another baker, or they will buy pizza or potatoes instead. So the baker sets a price
that he thinks will "clear the market." That price is determined by the willingness of customers to compete for
his product, and by the willingness of rivals to compete for his customers.

An identical process occurs with producer goods. A steel plant has on hand a supply of steel, for which
automobile companies, appliance makers, and equipment manufacturers are competing. The firm wants to get
as much revenue as it can, taking into account the willingness of its customers to pay and the threat of lower of-
fers from its rivals. The customers want to pay as little as possible, taking into account that rival customers may
outbid them. This two-sided competition will again set a price that "clears the market." The market-clearing
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price represents the lowest price that buyers of steel must pay, and the highest price that sellers of steel can re-
ceive, each without being outbid by rivals.

Competition also determines incomes and allocates goods. Competition acts as both stick and carrot in
economic life. If the worker does not keep his hands to the machine, his employer will replace him. If the em-
ployer does not treat his employee as well as other employers would, the employee quits and goes somewhere
else. If the manufacturer does not run his shop efficiently, his customers will go where they can find better ser-
vice at the same price or equal service at a lower price. All of us, as producers, can be replaced by those who
are able and willing to do the job better or cheaper.

On the other side, if we do our jobs well, we are more likely to get a good reward. The successful manu-
facturer has more customers and increases his revenues. The productive worker gets higher wages and more re-
sponsibility.

Market creates competition. Competition creates incentives. Incentives create better skills and higher
productivity. Productivity creates higher profits for manufacturers and higher rewards for workers. Thus, com-
petent work is better rewarded in market economies than in planned or bureaucratic ones. This is why compe-
tence is higher in countries with market economy. Now, when firms in the two parts of Germany can openly
compete, the Wartburg and Trabant have lost out to Opel and Volkswagen.

II Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) What results from competitive processes?

2) What does the baker have on hand?

3) How do comsumers compete for the baker's good?
4) What price does the baker want to get?

5) Why is he constrained?

6) What will happen if the baker sets his price too high?
7) Who competes for steel?

8) What does the firm take into account?

9) How much is the customer willing to pay?

10) What is the market-clearing price?

2. Fill the blanks with the words from the text.

1) Competition economic life.

2) Allresult from processes.

3) The baker has on a stock of bread.

4) Consumers are willing to for the baker's product.

5) The baker wants to get the highest possible.

6) The baker sets a price that will " the market."

7) That price is by the willingness of customers to compete for his product.
8) The customers want to pay as little as

9) The firm wants to get as much as it can.

10) The market-clearing price the lowest price that buyers must pay.

3. Match the parts of the sentences to each other.

1) Prices, wages, and methods of production result from a) producer goods.

2) The baker has on hand b) as much revenue as it can.

3) Consumers are willing to compete for c) a price that "clears the market."
4) The baker wants to get d) a stock of bread.

5) Customers will not buy e) competitive processes.

6) An identical process occurs with f) the highest price possible.
7) A steel plant has on hand g) the baker's product.

8) The firm wants to get h) a supply of steel.

9) The customers want to pay 1) all that the baker has produced.
10) This two-sided competition will again set ]) as little as possible.
4. Find the English equivalents of the following Russian words in the text:

1) pasmemars 11) «kHYT ¥ IPAHUK»

2) HaHUMarTenlb 12) ynpaBiaTh LeXOM

3) HaémHBIN paOOTHUK 13) norpedurens

4) >¢pdexkTuBHBIN 14) konu4ecTBO
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5) MecTo paboThI 15) xoHKYpeHT

6) ycreuHslii 16) npousBoAUTENH
7) OTBETCTBEHHOCTH 17) BeIpy4Ka, JOXOJ
8) HaBBIK 18) nepebuBaTh LIEHY
9) GropokpaTHUYECKU 19) mpemoxenue

10 xoMmneTeHuus 20)

5. Translate the following sentences into English.
1) KonkypeHuus onpeaenseT 10X0 bl U pacipeaesieHue TOBapOB.
2) KonkypeHlus JeHCTBYET KaK KHYT U MPSHUK SKOHOMUYECKOH KU3HH.
3) Bce Mpl, kKak paOOTHHUKH, MOKEM OBITh 3aMEHEHBI TEMHU, KTO CIIOCOOCH M JKEJaeT AeNaTh padoTy JIydIlle Uiu
C MEHbBIIMMH 3aTPaTaMH.
4) Ecnu Mbl lenaeM Hanry padoTy XOpOLIO, Mbl, BCErO BEPOATHEE, MOJIYYUM XOpOIllee BO3HArPaXACHUE.
5) VYcneuHslil IporU3BOIUTENb UMEET 00JIblIe TOTPEOUTENIEH U YBETUUYUBAET CBOIO ITPHUOBLIb.
6) IlponykTuBHBIN pabounii mosryyaeT 00siee BHICOKYIO 3apIljiaTy U HECET OOJIBIIYI0 OTBETCTBEHHOCTD.
7) PbIHOK CO3/1a€T KOHKYPEHIIHIO.
8) KonkypeHuus co3gaét MOTHBALHIO.
9) IlpousBoauTENBHOCTH TpyJa cO34aéT Oosiee BBHICOKME MPHUObUIM Ui MPOU3BOIUTENS U O0Jee BBHICOKOE
BO3HArpaKJeHue /i paboTHUKOB.
10) [ToaTOMy ypOBEHb KOMIIETEHIIMH BBIIIE B CTpaHaX ¢ pPhIHOYHOW SKOHOMUKOH.
I Translate the following dialogues from Russian into English:

I. A: VY mens Her OpaTheB U cecTEP, HO €CTh JIBa TBOIOPOIHBIX Oparta.
B: Bl nogiepxuBaeTe ¢ HUMU KOHTAKT?
A: Jla, OHM )XMBYT 32 rpaHULEH.
B: BprI e3qute Kk HEM?
A: 4 e3gun onuH pas.
2. A: Ceroans xxapko?
B: Her, cerogus noBonsHO XonoaH0. M, moxoxke, IOMAET TOXKIb.
A: Bawm HpaBurcs, koraa uaET 10K1b?
B: Jla, s oueHp 1100110, KOT/Ia HAET TOXK/Ib.
3. A: Kak nponuio Baiie nocieaHee myreniectsue Ha bamm?
B: O, sTo 651510 IpekpacHo!
A:  bsuio xxapko?
B: [a, O6b1710 04eHB KapKo.
A: Uro BHI menanu?
B:  ¥YTtpo MBI npoBOoAMIIN HA IUISIKE, a TIOce 00eaa Opaiy MalIMHy HampOKaT U €3I TI0 OKPY-

re.

Variant 4.
I Read the following text and translate it in writing:
PRIVATIZATION

Privatization is the process by which the production of goods or services is removed from the govern-
ment sector of the economy. This can be done either by the public sale of shares in a previously state-owned
enterprise, or by the use of private businesses to do government work under contract.

The leader in this strategy was the Thatcher government of Great Britain from 1979 to 1990. Previous
governments had tried limited denationalization (the restoration of nationalized enterprises to their previous
owners), but with limited success. Privatization involved totally new owners. In some cases the state enterprises
that were "privatized" had never been in the private sector.

Because state-owned companies have no profit motive, they have no incentive to produce goods that
consumers want, and to do so at low cost. In addition, even if they want to satisfy consumer demands, they have
no idea of what consumers want.

The result is misallocation of resources. Management responds to political, rather than to commercial,
pressures. The capital assets of state businesses are often of poor quality because the governments are not inter-
ested in the renewal of capital equipment.

Before the British water industry was privatized in 1989, it was undercapitalized by over $11 billion. As
the result the water supply failed to meet European standards for quality and safety. Similarly, the post office
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had cut back its services. First telegrams disappeared, then Sunday collection, then Saturday second delivery.
These changes made life easier for producers at the expense of service to consumers. Most serious of all, the
losses of state industries consume funds that are needed for private investment.

The British privatization of nearly four dozen major businesses and several hundred small ones was a
success. Privatized British industries outperformed the market average once they entered the private sector, and
the privatized stocks rose in value faster than the stock market average.

Following the collapse of communism in eastern and central Europe, first Poland, Hungary, and Czech-
oslovakia, then Romania and several of the former Soviet republics began to privatize. The problems in these
economies were very different from those faced by the advanced economies. Decades of low wages meant that
little wealth was available for investment, and no stock markets existed on which to make sales. Very of-
ten, there were no laws to protect or even permit private ownership, much less the supporting infrastructure of
contract law and financial support services such as banks and accountants.

For this reason the formerly socialist economies found themselves forced to blaze a new trail of privati-
zation, sometimes using the distribution of "coupons" to the population as a means of spreading ownership.
Very often some degree of "informal" privatization was permitted, in which management effectively expropri-
ated what had been state property. Unlike Britain, which had about 10 percent of its economy in state hands and
had sold three-fifths of it over ten years, the socialist countries were now faced with privatizing 60 to 80 percent
of their economies within half that time.

Still new capitalist countries learned from the experience of their early leaders. These included the tech-
niques of writing off past debts, allocating shares to workers, splitting monopolies into competing elements, and
establishing new regulatory agencies to calm public fears about the behaviour of the newly privatized opera-
tions.

By restoring market incentives and commercial reality, privatization revived state-owned industries. It
diverted billions of dollars from the support of loss-making government concerns into the expansion of wealth-
creating private businesses.

II Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) Where is the production of goods or services removed from by means of privatization?

2) How can a government remove the production of goods and services from the government sector of the
economy?

3) Who was the leader in this strategy in the years from 1979 to 19907

4) What denationalization strategies had the previous governments tried?

5) Why don't state-owned companies have incentives to produce goods that consumers want, and to do so at
low cost?

6) What pressures does the management of the state-owned companies respond to?

7) By how much had the British water industry been undercapitalized in 19897

8) In what way had the British post office cut back its services?

9) How many major businesses were privatized in Britain in the Thatcher's years?

10) How did the privatized industries perform on the market?

2. Fill the blanks with the words from the text.

1) Goods or services are removed from the sector of the economy.

2) The government sells shares in a previously enterprise.

3) Weuse businesses to perform government work under contract.

4) The leader in this was the Thatcher government of Great Britain.

5) Previous governments had tried denationalization, but with limited success.

6) Because state-owned companies have no motive, they have no incentive to produce goods.

7) Even if they want to consumer demands, they have no idea of what consumers want.
8) Management to political, rather than to commercial, pressures.

9) The capital of state businesses are often of poor quality.

10) The governments are not interested in the of capital equipment.

3. Match the parts of the sentences to each other.

1) The British water industry was a) funds that are needed for private investment.

2) As the result the water supply failed to meet b) a success.

3) The post office had cut back c) privatized in 1989.

4) These changes made life easier for d) European standards for quality and safety.

5) The losses of state industries consume e) the market average once they entered the private sec-
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6) The British privatization of major businesses  tor.
was
7) Privatized British industries outperformed g) its services.

8) The privatized stocks rose in h) value faster than the stock market average.
4. Find the English equivalents of the following Russian words in the text:

1) kpymenue 11) BoccranaBnMBaTh
2) nekaja, 1ecsTUIIEeTHE 12) BO3poxKAATH
3) GoraTcTBO 13) KOHTpaKTHOE MPaBoO

f) producers at the expense of service to consumers.

4) coOCTBEHHOCTH, BilafieHne 14) ciyx6a puHaHCOBOTO
5) KOHTpakKT 15) npou3BOAUTH MPOJIAKY
6) Oyxranrep 16) yObITOUHBIN

7) KyIIOH, «Bay4dep» 17) npuOBLILHBII

8) MoHoImoINA 18) nonmHOCTHIO

9) ycranaBnuBaTh 19) HenpaBuUIBEHOE pacTpeeICHIE
10 arenTcTBO 20) akTuBBI, HOHIIBI
Translate the following sentences into English.
3T0 MOXeET OBITh CIeJIaHO MMYTEM ITYOJINYHBIX TOPTOB.
YacTHble PeANIPHUITHS UCTIONHAIOT TTOPYYaeMyI0 TPABUTEIBCTBOM PabOTy MO KOHTPAKTY.
[Ipenpiaymuye MpaBUTENBCTBA MBITAIUCH MPOBECTH OTPAHUYCHHYIO JICHAMOHATU3AIIHIO.
[Iponecc mpuBaTU3aIK MPHUBIEK COBEPIICHHO HOBBIX BIIAICIIBIICB.
OTU mnpeanpusTUs HUKOT/AAa He ObUIM B YacCTHOM CEKTOpE.
Y HHX HET MOTHBAIlMM K IMPOW3BOJICTBY TOBAPOB C HU3KOW C€OECTOMMOCTEIO.
Pe3ynbTar — HEBepHOE pacnpeziesieHue pecypcosB.
OcHoBHBIE (OHABI TOCYJAPCTBEHHBIX MPEANPHUITAN OTIMYAFOTCS HU3KUM Ka4eCTBOM.
[Tono6ubIM 0O6pazoM moyTa cokparuiia 00bEM CBOUX YCIYT.
10) DT U3MEHEHHS CIeTAH KU3Hb TSl IPOU3BOIUTENICH Jierye 3a CYET MOTPEOUTENCH.

I Translate the following dialogues from Russian into English:

5.
1)
2)
3)
4)
5)
6)
7)
8)
9)

I.

> w2

TrEx 2ErT>

MHe HpaBATCs TBOM YaChI.

[IpaBna? Mue Toxe HpasTcs. S Kynuia ux B 1ptoTu (hpu, koraa aetena u3 [lapuxa.

Onu BeIrIAAT Joporo. CKOJIBKO Thl 3ariaTuiia’?

Omnu 66111 B pacnponaxe. S 3amnatuia Bcero 300 eBpo. IlepBonauanbHas 1ieHa Obuia 490 eB-
po.

VY nadHas moKyIKa.

[Tpuset! A [Ixex.

[Tpuser! A JIuza. S u3z ExarepunOypra. 91o B Poccun. A Th1?

A s u3 @panuun. [pudruo ¢ To0oit mozHakoMuThes, JInza.

B3anmHo.

UYeMm BbI 3aHUMaETECH?

S rnaBHBIN Oyxrajiarep Ha IOBEJIMPHOM 3aBojie. A Bbl €M 3aHUMAaeTeCh?

A crynent ropunuueckoro ¢akynprera. M y MmeHs ecth noapaboTka B HOTapHaJIbHOM KOHTOPE
(at a lawyer’s office).

Variant 5.

I Read the following text and translate it in writing:

ture.

MICROECONOMICS

Microeconomics deals with supply and demand, and with the way they interact in various markets. Mi-
croeconomic analysis lies at the centre of most of the recognized subfields of economics. Labour economics,
for example, is based largely on the analysis of the supply and demand for labour of different types. The field of
industrial organization deals with the different mechanisms (monopoly, cartels, different types of competitive
behaviour) by which goods and services are sold. International economics worries about the demand and supply
of individually traded commodities, as well as of a country's exports and imports taken as a whole. It also deals
with the demand for and supply of foreign exchange. Agricultural economics deals with the demand and supply
of agricultural products, and of farm land, farm labour, and the other factors of production involved in agricul-
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Public finance looks at how the government enters the scene. Traditionally, its focus was on taxes, but
more recently, public finance has reached into the expenditure side as well, attempting to analyze the costs and
benefits of different public programs. Applied welfare economics deals with the costs and benefits of just about
anything — public projects, taxes on commodities, taxes on factors of production (corporation income taxes,
payroll taxes), agricultural programs (like price supports and acreage controls), tariffs on imports, foreign
exchange controls, different forms of industrial organization (like monopoly and oligopoly), and various as-
pects of labour market behaviour (like minimum wages, the monopoly power of labour unions, and so on).

At the root of everything is supply and demand. In this market process people try to get the most from
what they have to sell, and to satisfy their desires as much as possible. In other words, people are maximizing
their personal "utility," or welfare. This process helps them to decide what they will supply and what they will
demand. The competitive supply price represents value as seen by suppliers, and competitive demand price rep-
resents value as seen by demanders.

II Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) What does microeconomics deal with?

2) What is labor economics based on?

3) What does the field of industrial organization deal with?

4) What does international economics worry about?

5) Who deals with the demand for and supply of foreign exchange?
6) What factors of production does the agricultural economics deal with?
7) What was traditionally public finance interested in?

8) What is public finance trying to analyze now?

9) What is applied welfare economics?

10) What lies at the root of everything in microeconomics?

2. Fill the blanks with the words from the text.

1) Microeconomics deals the way supply and demand in various markets.

2) This type of analysis lies at the center of most of the recognized of economics.

3) Labour economics 1s based largely on the of the supply and demand for labor
of different types.

4) The field of industrial organization deals withthe different by which goods and ser-

vices are sold.

5) International economics worries about the demand and supply of individual traded

6) International economics a country's exports and imports taken as a whole.
7) Who deals with the demand for and supply of exchange?

8) Agricultural economics worries about the demand and supply of products.

9) What factors of production are in agriculture?

10) Public finance looks at how the government_ the scene.

3. Match the parts of the sentences to each other.

1) Traditionally public finance had a) value as seen by suppliers.
2) More recently, public finance has b) supply and demand.
3) The economists are attempting to analyze c) the costs and benefits of different pub-
4) Applied welfare economics deals with the costs and  lic programs.
benefits of d) its focus was on taxes.
5) What subfield of economics deals with taxes on e) reached into the expenditure side.
6) The government controls agricultural programs f) public projects.
like g) commodities  and taxes on factors
7) At the root of everything is of production?

8) In this market process people try to get h) personal "utility," or welfare.
9) People are maximizing their 1) the most from what they have to sell.
10) The competitive supply price represents J) price supports and acreage controls.
4. Find the English equivalents of the following Russian words in the text:

1) umers geno 11) oGpabaTbiBacMble 3eMeIbHBIE YTOJIbs

2) B3auMOJIECTBOBATh 12) nanor

3) pabouas cuna 13) pacxojpl, 3aTpaThl

4) TPOMBIIICHHBIN 14) mpuObLIB, BRITOAA
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5) ToproBis 15) 6imarococrosinue, 60TaTcTBO

6) sKcmopT 16) noxon

7) uMnopTt 17) nnaTé&xHas BEIOMOCTb, CIIUCOK
8) cenbckoxo3sHCTBEeHHBIM  18) 3apmaTa

9) ¢dunancel 19) KOHKYpEHTHBIN

10 BXOAUTH, BCTYIIATH 20) mocTaBUIUK

5. Translate the following sentences into English.
1) MUKpOSKOHOMHKA 3aHUMAETCs MpOoOJIeMaMH TPEJIOKEHHUsT M CIpoca, a TakKe BOMPOCaMU WX B3au-
MOJICHCTBHS Ha Pa3JIMYHBIX PHIHKAX.
2) DKOHOMHKA TPyJa OCHOBAaHA B 3HAYMTEIHHON CTEIICHH HA aHAIM3E MPEIOKECHUS U CIIPOCa Pa3IHIHbIX TH-
OB paboyelt CUIIBL.
3) MexayHapoHasi 5)KOHOMUKa 03a004YeHa BOIIPOCaMU IIPEUIOKEHHS U CIIpoca B cepe IKCIOpTa U UMIIOPTA.
4) DKOHOMHKA CEIbCKOTO XO3SCTBAa UMEET JIENIO C Pa3IMIHBIMH (PAKTOPAMU CETbCKOXO3HCTBEHHOTO TPOU3-
BOJICTBA.
5) TpaauuuoHHO MHTEPEC IKOHOMUKHU IOCYJapCTBEHHBIX (DUHAHCOB JIeXkKal B chepe HaJIoroo0I0KEeHHSL.
6) B ocHOBe Bcero JeXHUT NPEJI0KEHUE U CIIPOC.
7) DKOHOMHKA CETTLCKOTO XO35CTBAa 3aHUMAETCS] BOIIPOCAMH KOHTPOJIS 32 pa3MepaMy MOCEBHBIX IJIOMIAICH 1
KOHTpOJIEM 1IEHOOOpa30BaHMsl.
8) KoHKypeHTHas IeHa MMOCTABIIMKA MPEICTABISET CTOUMOCTh TaK, Kak €€ BUIUT MOCTABIINK, KOHKYPEHTHAs
[IeHa MMOKYIaTeIsl MPEJICTABISAET CTOMMOCTh TaK, KaK €€ BHIUT MTOKYATEIb.
I Translate the following dialogues from Russian into English:
1. [Tpuser, Com! Kak nemna?
Cmacu6o, xopomo! A y Tebst kak nena?
Toxe xopomio, ciacu0o.
Kaxkas B Bac mpodeccus?
A menemxep no padote ¢ nmepcoHasioM. S paboTaro B 60IbIION KOMIAHUU. S BBl 4YeM 3aHMMa-
eTech?
51 pyKOBOXKY CBOMM COOCTBEHHBIM OM3HECOM.
Yem 3aHUMAETCs Balla KOMITAaHUS?
MbI pogaéM KEHCKYIO OJIEKITY.
$1 TOJIBKO YTO BEPHYJIACh U3 TTOE3IKH.
Kyna BbI e3nunu?
B stoT pa3 sto 6b11a ['penusi.
CKOJIbKO BBl TaM POOBLIH?
HecsaTb nHEn.
Uem BbI 3aHUMAITCH?
MBI yTemecTBOBAJIH MO Pa3HBIM OCTPOBAM.
Kakoii ocTpoB BaM noHpaBuiics 00JibIIe BCEro?
Kput 0b11 caMbIM HHTEpPECHBIM MeCTOM. S| ObI X0Tena e pa3 TyAa Moexarh.

(98]
ZEIrI>T> 2T2T2>T

Variant 6.
I Read the following text and translate it in writing:
SUPPLY AND DEMAND

The most basic laws in economics are those of supply and demand. Indeed, almost every economic
event is the product of the interaction of these two laws. The law of supply states that the quantity of a good
supplied rises as the market price rises, and falls as the price falls. Conversely, the law of demand says that the
quantity of a good demanded falls as the price rises, and vice versa.

One function of markets is to find "equilibrium", or "market-clearing" prices that balance the supplies of
and demands for goods and services. An equilibrium price is the one at which each producer can sell all he
wants to produce and each consumer can buy all he demands. Naturally, producers always would like to charge
higher prices. But even if they have no competitors, they are limited by the law of demand: if producers insist
on a higher price, consumers will buy fewer units. The law of supply puts a similar limit on consumers. They
always would prefer to pay a lower price than the current one. But if they successfully insist on paying less
(say, though price controls), suppliers will produce less and some demand will go unsatisfied.
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Economists often talk of supply "curves" and demand "curves." A demand curve traces the quantity of a
good that consumers will buy at various prices. As the price rises, the number of units demanded declines. That
1s because everyone's resources are finite; as the price of one good rises, consumers buy less of that and more of
other goods that now are relatively cheaper. Similarly, a supply curve traces the quantity of a good that sellers
will produce at various prices. As the price falls, so does the number of units supplied. Equilibrium is the point
at which the demand and supply curves intersect — the single price at which the quantity demanded and the
quantity supplied are the same.

Markets in which prices can move freely are always in equilibrium or moving toward it. For example, if
the market for a good is already in equilibrium and producers raise prices, consumers will buy fewer units than
they did in equilibrium, and fewer units than producers have available for sale. In that case producers have two
choices. They can reduce price until supply and demand return to the old equilibrium, or they can cut produc-
tion until supply falls to the lower number of units demanded at the higher price. But they cannot keep the price
high and sell as many units as they did before.

The concept of demand is one of the most important building blocks of economic analysis. When econ-
omists refer to demand, they usually have in mind not just a single quantity demanded, but what is called a de-
mand curve. A demand curve traces the quantity of a good or service that is demanded at successively different
prices.

The most famous law in economics is the law of demand. This law states that when the price of a
good rises, the amount demanded falls, and when the price falls, the amount demanded rises.

It is not just price that affects the quantity demanded. Income affects it too. As real income rises, people
buy more of some goods (which economists call normal goods) and less of what are called inferior goods. Ur-
ban mass transit and railroad transportation are classic examples of inferior goods. The usage of both of these
modes of travel declined dramatically in the US as postwar incomes were rising and more people could afford
automobiles.

Another influence on demand is the price of substitutes. When the price of Toyota Tercels rises, all else
being equal, demand for Tercels falls and demand for Nissan Sentras, a substitute, rises. Also important is the
price of complements, or goods that are used together. When the price of gasoline rises, the demand for cars
falls.

II Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) What are the basic laws of economics?

2) What does the law of supply state?

3) What does the law of demand say?

4) What is the equilibrium price?

5) What prices would the producers like to charge?

6) What is a “demand curve”?

7) What does the “supply curve” trace?

8) Where do the demand and supply curves intersect?

9) What happens if producers raise prices in the market which is already in equilibrium?
10) What happens if the producer supplies more goods than is demanded by customers?
2. Fill the blanks with the words from the text.

1) The most basic laws in economics are of supply and demand.

2) Every economic event is the product of the of the laws of supply and demand.

3) The law of demand says that the of'a good demanded falls as the price rises.

4) One function of markets is to find " " prices that balance the supplies of and demands for
goods and services.

5) An equilibrium price is the one at which each can sell all he wants to produce and each con-
sumer can buy all he demands.

6) Producers always would like to higher prices.

7) If producers insist on a higher price, will buy fewer units.

8) The law of supply puts a similar on consumers.

9) Consumers always would prefer to pay a lower price than the current one.

10) Economists often talk of supply " " demand " "

3. Match the parts of the sentences to each other.

1) A demand curve traces the quantity of a) equilibrium or moving toward it.

2) As the price rises, the number of b) units demanded declines.
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3) As the price of one good rises, consumers buy less
of

4) A supply curve traces the quantity of

5) As the price falls, so does the number of

6) Equilibrium is the point at which
7) Markets in which prices can
are always in

8) If the market for a good is already in equilibri-

move freely

¢) units supplied.

d)a good that consumers will buy at various pric-
es.

e) the demand and supply curves intersect.

f) producers raise prices, consumers will buy fewer
units than they did in equilibrium.

g) supply and demand return to the old equilibrium.
h) a good that sellers will produce at various prices.

um and 1) that and more of other goods that now are relative-

9) They can reduce price until ly cheaper.
10) They can cut production until supply falls to J) the lower number of units demanded at the higher
price.

4. Find the English equivalents of the following Russian words in the text:
1) B3ammoericTBIE 11) ropoackoit

2) ycTaHaBIIMBATH 12) nepeBo3ku

3) moaHUMAThCS 13) sxene3Has qopora

4) mapathb

5) paBHOBecHe

6) ecTecTBEHHBIN OanaHc
7) orpaHuyYeHuE

8) HacTOsIIUH, TEKYIIHUH

14) pe3ko, BHE3aMHO
15) no3BossATk cede (4To-J1. NpuoOpPecTH)
16) BusiHME; OKA3bIBATh BIUSHHE
17) ananor, 3aMEHHUTEIb
18) MOTMOTHUTEIBHBIN JIEMEHT
9) mpocnexuBarb 19) paBHBIH, S5KBUBaJIEHTHBII
10 HazHayaTh (1EeHY) 20) 6eH3uH
5. Translate the following sentences into English.
1) Camble OCHOBHBIE 3aKOHBI SKOHOMHUKH — 3TO 3aKOHBI NMPEJIOKEHUS U CIIpoca.
2) Jlro6oe coObITHE B SKOHOMHKE €CTh PE3YyJIbTaT B3aUMOJICHCTBUS ATHX JBYX 3aKOHOB.
3) KonuuecTBo npeasaraeMoro Topapa pacTéT ¢ poCTOM PbIHOYHON LEHBI U Na/1a€T CO CHUKEHUEM LIEHBI.
4) 3akoH cmpoca TOBOPHUT, YTO KOJHMYECTBO TPEOYeMBIX TOBApOB YMEHBIIAETCA MO MEpPE pOCTa IIECHBI, W
Ha000pOT.
5) Opna u3 GyHKIUN PhIHKA — HAWTH «PaBHOBECHYIO» ILICHY.
6) «PaBHOBecHBIE» LIEHBI OANIAHCHUPYIOT TOCTaBKU TOBAPOB M YCIYT U CIPOC Ha HUX.
7) PaBHOBecHas 1ieHa — 3TO LI€HA, 110 KOTOPON Ka)blil MPOU3BOAUTEIL MOXKET MPOJIaTh BCE, UTO OH XOYET
MPOJAaTh, a KAKABIM MOKYNaTeIh — KYITHTh BCE, UTO eMy Tpedyercs.
8) EcrtecTBeHHO, MIPOU3BOINUTENH BCETAA XOTAT Ha3HAYaTh 00Jiee BBICOKUE LIEHBI.
9) Ho, naxxe eciu y HUX HET KOHKYPEHTOB, OHH OTPaHHUYEHbI 3aKOHOM CIIpOCa.
10) Ecniu npousBoauTens OyaeT HacTauBaTh Ha 0ojiee BBICOKMX LIEHAX, MOKYIaTeNlb IPUOOPETET MEHbLIee KO-
JIMYECTBO EAUHUIL PO TYKIINH.
I Translate the following dialogues from Russian into English:

1. A: [Ilpuser! Kak noxuBaenib?
B: Xopoio, cnacu6o. A TbI Kak?
A: HopmansHo.
2. A: Kewm BoI paboTtaere?
B: S menemxep no paboTe ¢ KIMEHTaMHU.
A: Bawm HpaBuTtcs Baia padota?
B: He ouens, HO s HETIIOXO 3apabaThIBalO.
3. A: CeroaHs UAET A0XK/b, U Mbl HE MOXEM MOUTHU MPOTYJIATHCA.
B: Her. Jox s npexkpatuiicsi, 103TOMY Mbl MOKEM TONTH.
Variant 7.
I Read the following text and translate it in writing:
PROFITS

In a market economy, profits are the core aim of economic activities. Those who organize production ef-
forts do so to maximize their income. Their search for profits is guided by the famous "invisible hand" of cap-
italism: the highest profits are to be found in producing the goods and services that potential buyers most want.
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Capitalists earn a return on their efforts by providing three productive inputs. First, they are willing to
delay their own personal gratification. Instead of consuming all of their resources today, they save some of to-
day's income and invest those savings in activities (plant and equipment) that will yield goods and services in
the future. When sold, these future goods and services will yield profits that can then be used to finance con-
sumption or additional investment. Put bluntly, the capitalist provides capital by not consuming. Without capi-
tal much less production could occur. As a result some profits are effectively the "wages" paid to those who are
willing to delay their own personal gratification.

Second, some profits are a return to those who take risks. Some investments make a profit and return
what was invested plus a profit, but others don't. When a savings and loan association or an airline goes broke,
the investors in those firms lose their wealth and become poorer. Just as underground miners, who are willing to
perform a dangerous job, get paid more than those who work in safer occupations, so investors who are
willing to invest in risky ventures earn more than those who invest in less risky ones. On average those who
take risks will earn a higher rate of return on their investments than those who invest more conservatively.

Third, some profits are a return to organizational ability, enterprise, and entrepreneurial energy. The en-
trepreneur, by inventing a new product or process, or by organizing the better delivery of an old product, gener-
ates profits. People are willing to pay the entrepreneur because he or she has invented a "better mousetrap."

Economists use the word interest to mean the payment for delayed gratification, and use the word profits
to mean only the earnings that result from risk taking and from entrepreneurship. But in everyday business lan-
guage the owner's return on his or her capital is also called profits. (In business language the lender's return is
called interest, even though most lending also entails some risks.)

Capitalism requires profits, and profits require ownership. Property ownership generates responsibility»
Without ownership no one is really responsible for what is going on in the economy.

The fruit of successful market competition takes the form of profits. By introducing new goods, new
technology, or new forms of organization, or by finding new markets or new sources of raw material, entrepre-
neurs can earn profits. The lure of profits inspires alertness, creativity, judgement, and risk taking. Similarly,
workers who perform better will, all other things being equal, get bigger raises and more promotions.

The pursuit of profits, in the two hundred years since the industrial revolution, has changed the world in
many respects. The horse and wagon have been replaced by the railroad, the automobile, and the airplane. The
open-hearth fire has yielded to the electric stove and microwave oven. The telephone wire and the electromag-
netic wave transmit news that previously travelled by ship or pony. The competitive process that has brought
about these enormous changes is governed by the set of rules that, taken collectively, is called the market econ-
omy or the system of private property. This system recognizes the right of each person to use his property as he
sees fit, and to keep the fruits of his labour. This leaves the worker free to pursue the occupations for which he
thinks himself or herself best suited. It leaves the entrepreneur free to explore new forms of production.

Despite its importance to modern economic life, competition is not the be-all and end-all of economic activity.
The modern market economy is as much a system of cooperation as it is a system of competition. Within the
family and within the firm, between the customer and the supplier, we cooperate to achieve our ends. This co-
operation is as vital as competition to a productive economy.

II Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) What is the core aim of economic activity in a market economy?

2) What do people organize production?

3) Where are the highest profits to be found?

4) Why do capitalists delay their personal gratification?

5) Where do the capitalists invest a part of today's income?

6) Why do people take risks?

7) Why do some investors prefer to invest in risky ventures?

8) Why are people willing to pay entrepreneurs?

9) What is the meaning of the word "interest" for an economist?

10) What is the meaning of the word "profit" for an economist?

2. Fill the blanks with the words from the text.

1) In a market economy, profits are the aim of economic activities.

2) Those who organize production efforts do so to __ their income.

3) Their search for profits is by the famous "invisible hand" of capitalism.

4) The highest profits are to be found in the goods and services that potential buyers most
want.
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5) Capitalists earn a on their efforts by providing three productive inputs.

6) Capitalists are willing to their own personal gratification.

7) Instead of consuming all of their today, they save some of today's income.

8) They invest those in activities that will yield goods and services in the future.
9) These future goods and services will profits that can then be used.

10) These money can be used to finance or additional investment.

3. Match the parts of the sentences to each other.

1) Put bluntly, the capitalist provides a) the payment for de layed gratification.
2) Without capital much less b) organizational ability, and entrepreneurial
3) Some profits are a return to energy.
4) Some investments make a profit and return c) what was invested plus a profit.

5) Those who take risks will earn d) what is going on in the economy.

6) Some profits are a return to e) his or her capital is also called profits.

7) People are willing to pay the entrepreneur be- f) capital by not consuming.

cause g) those who take risks.

8) Economists use the word interest to mean h) production could occur.

9) In everyday business language the owner's return | i) higher rate of return.
on e) j) he or she has invented a "better mousetrap."
10) Without ownership no one is really responsible
for
4. Find t